



St. Louis County, Minnesota

Date of Report: 9/21/2025 3:19:02 AM

Genera	l Detail	s
--------	----------	---

Parcel ID: 280-0030-00070

**Legal Description Details** 

Plat Name: CANOSIA

Section Township Range Lot Block

31 51 15 -

Description: E1/2 OF W1/2 OF LOT 2 EX COMM AT SW COR OF E1/2 OF W1/2 THENCE N ALONG W LINE 800.24 FT TO PT OF BEG THENCE ELY 135 FT THENCE N 905.25 FT THENCE W 96.80 FT THENCE DEFLECT 93DEG55'12"

RIGHT 155.40 FT THENCE DEFLECT 13DEG39'25" RIGHT 128.98 FT THENCE DEFLECT 2DEG04'45" LEFT 116

FT TO SHORE THENCE WLY ALONG SHORE 125 FT TO W LINE OF E1/2 OF W1/2 OF G.L. 2 THENCE SLY

ALONG W LINE 1330 FT TO PT OF BEG

**Taxpayer Details** 

Taxpayer NameVOLLMER AVALONand Address:19900 BEACH RD # 202

TEQUESTA FL 33469

**Owner Details** 

Owner Name KOLAR AVALON TRUSTEE

Payable 2025 Tax Summary

2025 - Net Tax \$8,979.50

2025 - Special Assessments \$14.50

2025 - Total Tax & Special Assessments \$8,994.00

#### **Current Tax Due (as of 9/20/2025)**

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$4,497.00	2025 - 2nd Half Tax	\$4,497.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$4,497.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$4,497.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$4,497.00	2025 - Total Due	\$4,497.00	

#### **Parcel Details**

Property Address: 4877 LAKEWAY DR, DULUTH MN

School District: 704

Tax Increment District: 
Property/Homesteader: -

	Assessment Details (2025 Payable 2026)										
Class Code Homestead Land Bldg Total Def Land Def Bldg Net Tax (Legend) Status EMV EMV EMV EMV Capacity											
151	0 - Non Homestead	\$388,900	\$480,700	\$869,600	\$0	\$0	-				
	Total:	\$388,900	\$480,700	\$869,600	\$0	\$0	9620				





St. Louis County, Minnesota

Date of Report: 9/21/2025 3:19:02 AM

**Land Details** 

 Deeded Acres:
 10.36

 Waterfront:
 PIKE

 Water Front Feet:
 230.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc: -

 Sewer Code & Desc:
 P - PUBLIC

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

·	Improvement 1 Details (MAIN CABIN)										
I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	HOUSE	1994	1,65	655 1,655		-	SLB - SLAB				
	Segment Story Width			Length	Area	Founda	ation				
	BAS	1	4	15	60	FOUNDA	ATION				
	BAS	1	9	25	225	FOUNDA	ATION				
	BAS	1	20	22	440	FOUNDA	ATION				
	BAS	1	30	31	930	FOUNDA	ATION				
	DK	1	0	0	604	PIERS AND F	OOTINGS				
	OP	1	6	9	54	FLOATING	SLAB				
	SP 1		11	22	242	PIERS AND F	OOTINGS				
,	Bath Count	Bedroom Co	unt	Room Co	ount	Fireplace Count	HVAC				
	1.75 BATHS	3 BEDROOM	1S	-		1 (	C&AIR_COND, ELECTRIC				
			Improveme	ent 2 Deta	ils (EAST CAE	BIN)					
I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	HOUSE	1935	1,22	28	1,228	-	CAB - CABIN				
	Segment	Story	Width	Length	Area	Founda	ation				
	BAS	1	16	61	976	POST ON G	GROUND				
	BAS	1	18	14	252	POST ON GROUND					
	DK	1	0	0	636	POST ON G	GROUND				
	SP	1	14	18	252	POST ON G	GROUND				
	Bath Count	Bedroom Co	unt	Room Co	ount	Fireplace Count HVAC					
	1.0 BATH	3 BEDROOM	1S	-		0	CENTRAL, GAS				
			Improvem	ent 3 Deta	ils (DETACHI	ED)					
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				

				0 20.	a (2 = 17 ( 0 : 1 = 2	,	
-	Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	GARAGE	1935	980	)	980	-	DETACHED
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	20	34	680	FLOATING	SLAB
	WIG	1	30	10	300	FLOATING :	SLAB

	Improvement 4 Details (WEST CABIN)										
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
	SLEEPER	1935	36	4	364	-	-				
	Segment	Story	Width	Length	Area	Foundati	ion				
	BAS	1	12	7	84	FOUNDAT	TON				
	BAS	1	20	14	280	FOUNDAT	TON				
	DKX	1	0	0	271	PIERS AND FO	OOTINGS				





St. Louis County, Minnesota

Date of Report: 9/21/2025 3:19:02 AM

		Improve	ment 5 D	etails (SAUN	A)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Bas	ement Finish	Style C	ode & Desc
SAUNA	0	330	6	336		-		-
Segmen	t Story	Width	Length	Area		Founda	ation	
BAS	1	14	24	336		POST ON C	GROUND	
DKX	1	4	12	48		POST ON C	ROUND	
		Improve	ment 6 De	tails (FIRE P	PIT)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Bas	ement Finish	Style C	ode & Desc
	0	25	1	251		-	PLN - I	PLAIN SLAB
Segmen	t Story	Width	_	Area		Founda	ation	
BAS	0	0	0	251		-		
		Improven	nent 7 Det	ails (STORA	GE)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDING	G 1935	70	)	70		-		-
Segmen	t Story	Width	Length	Area		Founda	ation	
BAS	1	7	10	70		POST ON C	ROUND	
		Improve	ment 8 D	etails (PH->S	ST)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDING	G 0	24	ļ	24		-		-
Segmen	t Story	Width	Length	gth Area		Foundation		
BAS	1	4	6	24		POST ON C	ROUND	
		Improveme	ent 9 Deta	ails (SHED @	RD)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDING	G 0	140	0	140		-		-
Segmen	t Story			Area		Founda	Foundation	
BAS	1	10	14	140		POST ON C	GROUND	
	Sa	les Reported	to the St.	Louis Coun	ty Audito	r		
Sale	e Date		Purchase	Price		CR	V Number	
10/	1993		\$455,0	000			93665	
		As	ssessmen	t History				
	Class	1 1	ь.	1	Tatal	Def	Def	N T
Year	Code ( <mark>Legend</mark> )	Land EMV	Blo EM		Total EMV	Land EMV	Bldg EMV	Net Tax Capacit
	151	\$388,900	\$457	,800 \$	846,700	\$0	\$0	T -
2024 Payable 2025	Total	\$388,900	\$457	,800 \$	846,700	\$0	\$0	9,334.00
	151	\$352,600	\$396	.800 \$	749,400	\$0	\$0	-
2023 Payable 2024	Total	\$352,600	\$396		749,400	\$0	\$0	8,118.00
	151	\$350,600	\$396		747,400	\$0	\$0	-
2022 Payable 2023	Total	\$350,600	\$396		747,400	\$0	\$ <b>0</b>	8,093.00
	151	\$311,400			681,100	\$0		0,033.00
2021 Payable 2022	101	\$311,400 \$311,400	\$369	,	<u> </u>	\$0 <b>\$0</b>	\$0 <b>\$0</b>	7,264.00
2021 Payable 2022 📙	Total		\$369.		681,100			





St. Louis County, Minnesota

Date of Report: 9/21/2025 3:19:02 AM

	Tax Detail History										
Tax Year	Total Tax & Special Special Taxable Building Tax Year Tax Assessments Assessments Taxable Land MV MV										
2024	\$8,121.50	\$12.50	\$8,134.00	\$352,600	\$396,800	\$749,400					
2023	\$8,707.50	\$12.50	\$8,720.00	\$350,600	\$396,800	\$747,400					
2022	\$8,963.50	\$12.50	\$8,976.00	\$311,400	\$369,700	\$681,100					

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.